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LABJINDu3
tristimulus value difference
Yoc=Yw - nc=100,
1% Aanpua =[NI(A 10+A2aV)I(A 20A0n)] (Yn/100<Y<=Yy0)
dY=Agn(A1tAsnY)  Ap=0,017, A,=0,0058
Aon, Deb‘l 5, Aon,a=1,0, see CIE 230:2019
dYg=0,36, Ay,=1,000, G=0,67
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SHEYY Yoc=Yw - nc=100,

"1 AganDuz=[IN[A 1n+A2 V(A 20A0n)] (Yn/100<Y<=Y,c)
AYIY=Ag A1 +AZYVY
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tristimulus value contrast
Yoc=Yw - nc=100,

I* L ABaNDUS=[IN[(A 10 A2nY)J(A 2A0n)] (Yn/100<Y<=Y,c)
YIAY=Y/[A on(A1ntAz2nY)]

(Y/dYy=249,21, A,=1,000, ¢=0,67
(Y/dY)g=221,29, A;=0,011, A,=0,0038
(Y/dY} ¢=141,84 Y,=18, dY=0,08
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i/l LABJNDu3 relative standard lightnessi*/I* ,
[/ Yoc=Yw nc=100,

%L aganbuz =[IN[A 17+A2nY)V/(A 20A0n)] (Yd/100<Y<=Y,0)
1 \(3,6)=327 /% ,(18)=744.[* y (90)=1158
I* gl (=155, Ay,=1,000, ¢=0,67

I*1g/l* ,~1,00, A/ =0.011, A,0,0038
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Yoc=Yw - nc=100,
1* L aBaNDu3 =[IN[(A 10+A2nY)I(A 2nA0n)] (Yd/100<Y<=Yc)
AY/dY,=AgnA 11+AanYI/dY,

dYg/dY,=4,43, Ayy=1,000, ¢

Y gdY,= , A=0,011, Az =0,00
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o
I* =744 dY,=0,08 dY,/Y,=0, 0045
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SSu=OYMIBYNy . =y, =100,
1* L aBaNDU3 =[IN[(A 10 tA2RY)I(A 20A0n)] (Ynd/100<Y<=Yc)
@YIYVYAYIY,=(AgitAg Y)Y AYIYY]

(dY/Ypo/(GV/Y)=0,88, Ay=1,000, ¢=0,67
(dY/Y)g/(dYA=1,00, A =0,011, A, =0,0038
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log [(Y/AY) I (YIAY),] LABJINDuS3 relative
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Gl =(YIAV)(YIAY), o 2 S Y2 L 50,
1* 1 aBaNDU3 =[IN[(A 10t A2RY)J(A 20A0n)] (Yd/100<Y<=Yc)
YIAYYCYIAY ), =YY IAY ) )A on(ArntAs (YY),
(Y/dY)g/(Y/dY)=1,12, Ay=1,000, ¢=0,67
(YIdY)g/(Y/dY)=1,00. Ar=0,011. A,=0,0038
(Y/dY} ¢/(Y/dY)=0,64 Y,=18 dY;=0,08
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